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» 1. 0000 (linear search)
» 2. OO0 (binary search)
» 3. 00000 (hash)
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0000 (search problem)

» 00: n000000 (ag, @, ...,a,) 000000 v
» J0: 000000000 000 a; =v
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0000 (linear search)

0o0ooo: O(n)

LINEAR-SEARCH(A, v)

1 for i « O to length[A] - 1
2 do if A[i] = v

3 then return i

4 return @

1. dogobbboooobbboooobbod
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0000 (binary search) (0O OOOO0O)
OO0O000: O(logn)

gbobboooobobboooobbboooan

BINARY-SEARCH(A, v, low, high)

1
2
3
4
5
6
7
8

if high < low

then return @
mid ~ (low + high) / 2
if A[mid] > v

then return BINARY-SEARCH(A, v, low, mid - 1)
if A[mid] < v

then return BINARY-SEARCH(A, v, mid + 1, high)
return mid

1. 00000 vOobooooooboo
2. 00000 vOOOooooobOoooooobobo
3. 00000 voooaoboboboooooooo
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0000 (binary search) (0O OOOOOOO)
OO0O000: O(logn)

BINARY-SEARCH(A, v)
1 low « O

2 high « length[A] - 1

3 while low <= high

4 do mid ~ (low + high) / 2
5 if A[mid] = v

6 then return mid

7 if A[mid] > v

8 then high « mid - 1
9 if A[mid] < v

10 then low « mid + 1
11 return @

1. 00000 vOOoboobooboo
2. 00000 vOOODOOODOODOODOOOo
3. 00000 vOOODOOODOODOOODOOoo
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00000 (hash) (DOO0OOOOOO)
ooooo: o(1)

HASH-INSERT(H, key, val)

1 i « hash(key, length[H])

2 # 000000000CO0O0DOOCOO0O0O0O00ODOO0OO0
3 while H[i] is occupied

4 do i « i+l modulus length[H]

5 H[i].KEY — key

6 H[i].VAL ~ val

1. key OOODOOO iODODOOO
2.i000000000O0DbOObOobOOoon
3. 000000000000 key, valOODO
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00000 (hash) (DOO0OOOOOOOO)
ooooo: o(1)

HASH-SEARCH(H, key)

1 i < hash(key, length[H])

2 # 00000000 key UOOOODOOOOOOOOO
oooo

3 while H[i] is occupied and H[i] .KEY != key

4 do i « i + 1 modulus length[H]
5 if H[i].KEY = key

6 then return H[i].VAL

7 else return @

1. key OOODOOO iODDOOO
2.i000000000 key OOOOOOOODO
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» 00 O00000 Ooooooog?
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